“PRACTICE QUE

'555' Directions: Each of the questlon's or incomplete statements below is followed by five
-suggested answers or completions. Selact the one that is best in each case.

1. Tustbefore something scary happens in a horror filrn, they often play scary-sounding music.
When T hear the music, I tense up in anticipation of the scary event. In this situation, the

music serves as a{n)

{(A) US.

(B) CS.

(C) UR. ' ‘
(D) CR. '

() NR.

2. Tryasyou migfat, you are unable to teach your dog to do a somersault. He will roll around
on the ground, but he refuses to execute the gymmastic move you desire because of

(A) equipotentiality,

{B}--preparedness

(C) instinctive drift.
(D) chaining.
(E) shaping.

3. ‘Which of the following is an example of a generalized reinforcer?

\ (A) chocolate cake ' i
(B) water

(C) money

(D) applause

{B) highgrades

. 4. Inteaching your cat to jump through a hoop, which reinforcement schedule would facilitate
 the most rapid learning? '

{A) continuous

(B) fxed ratio

(C) wariable ratio

(D) fixed intexval

(E) variable interval .

5. The classical conditioning training procedure in which the US is presented before the CSis
known as

{A) backward conditioning.
(B) aversive conditioning.

(C) simultaneous conditioning.
(D} delayed conditioning, .
(B) trace conditioning.
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6. Tina likes to play with shigs, but she can find thern by the shed only after it rains. On what . ’ . .
kind of reinforcement schedule is Tina's slug hunting? ' ?

(A) continuous

(B} fixed-interval
(C) fixed-ratio

(D} variable-interval
(E) variablesratjio

7. Just before the doors of the elevator close, Lola, a coworker you despise, enters the elevator
You immediately leave, mumbling about having forgotten something. Your behavior Tesults
in .

(A) positive reinforcement,

(B) asecondary reinforcer.

{C} punishment.

(D) negaﬁve reinforcement.

(E) omission traiming,

8. Which of the following phenomena is illustrated by Tolman’s study in which rats
suddenly evidenced that they had learned to get through a maze once a reward
was presented?

{A) insightlearning
. (B) instrumental learning
() latentlearning '
(D} spontaneous recovery
'(B) classical conditioning

-g. Many psychologists believe that children of parents who beat them are likely to beat their .
' own children. One commeon explanation for this phenomenon is
(A) modeling. '
(B) latentlearning.
(C) abstract learning.
(D) instrumental learning.
(8) classical conditioning.

10. When Tifo was young, his parents decided to give him a quarter every day he made his bed.
Tito started to make his siblings’ beds also and help with other chores. Behaviorists would
say that Tito was experiencing
(A) internal motivation,
{B) spontaneous 1ecovery. ) \
(C) acquisiton. \
(D) generalization. ' ' \
(E) discrimination.
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11. A rat evidencing abstract learning might lear‘ﬁ

{A) tocleanand feed itself by watching its mother perform these activitdes.
(B} to associate its handier’s presence with feeding dme. . ... .

(C) to press a bar when a light is on but not when its cage is dark.

(D) the layout of 4 maze without hurrying to get to the end.

(E) topressalever when he sees pictures of dogs but not cats.

12. With which statement would B-F- Sidnner most likety agree?

(A) Pavlov'sdog learned to expect that food would follow the bell.

(B) Baby Albert thought the white rat meant the loud noise would sound.
{C) Alllearningis phservable. ’
(D)} Pigeons peck disks knowing that they will receive food.

(E) Cognition plays an fmportant role in learming.

13. Before his parents will read him a bedtime si0xy, Charley has to brush his teeth, put
on his pajamas, kiss bis grandmaother good night, and put away his toys. This example
illustrates

(A) shapiog. .
(B) acquisition. -
{C) generalization.

(D) chaining.

(E)} atoken economy.

14, Which of the foligwing is an example of positive reinforcement? ¢

(A} buyinga child a video game after she throws a tantrum
(B) going inside to escapea thunderstorm

(C) assigning a student Qetention for fighting

(D) getting a cavity filled at the dentist to halt a toothache
{8) depriving a prison inmate of sleep

15. Lily keeps poking Jared in Mr. Clayton's third-grade class. Mr. Clayton tells Jared to
ignore Lily. Mr. Clayton is hoping that ignoring Lily's behavior will
(A) punish her.
(B) extinguish the behavior.
{C) mnegatively reinforce the behavioL
(D) causeLilyto generalize.
(8) make the hehavior latent.
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They found that rats developed conditioned taste 2ve
nauseated until houss after being exposed 0 a TaStE, Wikias xe vumem—

ot et

ias the

Garcia effect. Similatly, cancer patients undergoing chemotherapy develop loss of appetite.
They also found that there are biological constraints on the ease with which. particular stimuli
can be assoclated with. particulas responses. Rats have 2 tendency to associate nausea and
dizziness with tastes, but not with sights and sounds. Rats also tend to associare pain with
sights and sounds, but not with tastes.

Instinctive Drift

Sometimes, operantly conditioned animals failed to behave as expected. Wild rats already
conditioned in Skinner boxes sometimes reverted to scratching and biting the lever. In

instinctive drift—a conditioned

were treated as actual food by chickens
strong evolutionary history of the anim

different experiments, Keller and Marian Preland found that stimuli that represented food
and raccoons. The Brefands artributed this to the
als that overrode conditioning. They called this
response that Jrifts back toward the natural (instinctive)

B +

behavior of the organism. Wild animal trainexs must Sty vigilant even after training their
apimals because the animals may revert to dangerous behaviors.

3 Review Questions | ' -'

Directions: For each item, choose the lerter of the choice that best completes the statement O anSWeTs

the question.

1. Once Pavlovs dogs learned to salivate to the
sound of a tuning fork, the tuning fork was a(n)
(A) unconditioned stimulus
(B) neutrat stimulus
(C) conditioned stimulus
(D} anconditioned response
{E) conditioned sesponse

2. Shaping is

(A) a pattexn of respomses that must be made

before classical conditioning is completed
(B} rewarding behaviors thar get closer and closer
to the desired goal behavior
(C) completing a set of behaviors in succession
before a reward is given

(D) giving you chocolate pudding to increase the
likelihood you will eat more carrots

(B) inhibition of new learning by previous learning

3. John loves to fish. He puts his line in the watex
and leaves it there until he feels a g, On what
reinforcement schedule is he rewarded?

(A) continuous reinforcement
(B) fixed ratio

(C) fixed interval

(D) variable ratio

(E) variable interval

4,

Chimpanzees given tokens for performing tricks
were able to put the tokens in vending machines
to get grapes. The tokens acted as

(A) primary reinforcers

(B} classical conditioning

(C) secondary reinforcers

(D) negative reinforcers

(E) unconditioned reinforcers

Which of the following best reflects negative

reinforcement? '

(A) Teresa is scolded when she runs through the
house yelling.

(B) Lina is not allowed to watch television until
after she has finished her homewotk.

(C) Greg changes his math class so he doesnt
have to see his old girlfriend.

(D) Aditya is praised for having the best essay iD
the class.

(E) Alex takes the wrong medicine and get
violently ill afterwards.



Pl e D e — e Gt e oo s

Watson and Rayneds classical conditioning of

T Albert” was helpful in explaining that

(A me conditioned stimull do not generalize

(B) human emotions such as fear are subject to
classical conditioning

(C) drug dependency is subject to classical as well
as operant conditioning

(D) small children are not as easily conditioned as
older children

10.

Learning < 123

If the trainer conditions the pigeon to peck at
a red cixcle and then only gives hima reward if he
pecks at the green circle when both a red and
green circle appear, the pigeon is demonstrating
(A) matching-to-sample generalization -
(B) abstract learning

(C) intrinsic motivarion

(D) insight

{E) rnnﬂﬁh'ng

(E) fear of rats and rabbits are innate responses
previously undiscovered

Jamel got very sick after eating some mushrooms
on a pizza at his friend’s house. He didr’t know that
he had a stomach virus at the time, blamed his
illness on the mushrooms; and refused to eat them.
again. Which of the following is the unconditioned
stirnulus for his taste aversion to mushrooms?

(Ay pizzd

1L

Latent learning is best described by which of the

following?

(A) innate £eSpONSES of an organism preventing
new learning and associations '

(B) unconscious meaning that is
new response patierns

(C) response patterns that become extinguished
gradually over time '

(D) delayed responses that occur when new stim-

attributed to

(B) stomach virus
(C) mushrooms
(D) headache

(E) aversion t0 mushrooms

. If a previous experience has given your pet the
ectancy that nothing it does will prevent an
L versive stimulus from ocourring; it will likely
{A) be motivated to seek comfort from you
(B) experience learned helplessness
(€) model the behavior of other pets in hopes of
" avoiding it
(D) seek out challenges like this in the future to
disprove the expectation
(E) engage in random behaviors until one is
successful in removing the stimulus

9. While readying to take a free-throw shot, you
saddenly atrive at the answer fo 2 chemistry
problem you'd been working on ‘several hours
before. This is an example of ‘

(A) insight s

(B) backward conditioning

(C) latent learning

(D) discrirnination

(F) the Premack Principle

12,

uli are paired with fariilizy omes
(E) learning that occurs in the absence of rewards

Rats were more likely to leam an aversion to
bright lights and noise with water if they were
associared with electric shocks rathes than with
favors or poisoned food. This illustrates

(A) insight

(B) preparedness

(C) extinction

* (D) observational learning

13.

14,

(E) generalization

Which of the following responses is NOT learned

through operant conditioning?

(A) a rat learning to press a bar to get food

(B) dogs jumping over a hurdle to avoid electric
shock

(C) fish swimming to the t0p of the tank when a
light goes on

(D) pigeons leatning to turn in
reward

(E) studying hard for good grades on tests

circles for a

Spottaneous recovery refers to the

(A) reacquisition of a previously learned behavior

(B) reappearance of 2 previously extinguished
CR after a rest petiod

(C) return of a behavior after punishment has
ended

(D) tendency of newly acquired responses 1o be

_ intermittent af first

(E) organism’s tendency to forget previously

jearned responses, but to relearn them mote
" quickly during a second training period
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Gee Chapter 19 for answers and explanations.

After having been gtack by acar, 2 dog now exhibits
fear Tesponses eVery time a car approaches- The dog
also extibits a fear Tesponse o the approach of a bus, 2
truck, 2 bicycle, and even 2 child’s wagot. The dog bas
ndergone a process of

(A) stimulus discrimination
[®) stmulos generalization
(C) spontaneous TECOVETY
(D) backward conditioning
(E) differential reinforcement

. Which of the following would be 2 example of
gecond-order conditioning?

(A) Acaitastes? gour plant that makes it feel
nauseated and will pot approach that plant
again.
(B) A horse that i5 fed sugar cubes by 3 particular
person galivates every time that person walks

¥, .

(C) A pigeon that has received food every time 2
red light is presented exhibits food-seeking
behavior when a yellow Tightis presented.

D) A rabbit that has repeatedly seeit a picture of &
feared predator paired with 2 musical tone
oxhibits a fear response 0 the musical tone a8
wellas toa flashed light alons that had been
repeatedly paired with the tone.

(B) Wild rats instipctively avoid canine predators,
but domesticated 1215 chow little fear of the
domesticated dogs they encounter, and may
gven join them in exploration OF play.

The reinforcement schedule that generally provides the
most resistance 10 reSpONSe extinction is

(&) fixed-ratio

{B) fixed-interval
(89 variable-ratio
®) yanable-interval
(E) continmuous

.

6.

The tmportance of enrichment and stimutation of the
bezin during critical periods in developmept can be
seen in all of the following EXCEPT

(A) anjpcrease in the pumber of neurons

(B) &n increase in the numnber of connections between
neurons

(C) stren gthening of already existing connections
between neurons

(D) en increase i the size of nearons

(E) bigher levels of neuroiransmitters

According to Albert Bandura, observational jearning
can occur gven in the absence of

(A) ohserved consequences of behavior

(B) direct attention to the behavior

©) retention of the ghserved pehavior over time

(D) ability 10 reproduce the behavior

{E) motivaton i¢ reproduce the bebavior at a later
time

Jay joins 2 social moedia wehsite to lose weight, and

he Teceives POINTS Hased on the intensity of bis daily
exercise and praise from fellow users for each workout
he logs on the website, This increases his exercise fre-
quency and iptensity- Eventually be stops logging onto
the website, but continmes 0 exercise with jncreased
frequency. This is an example of

(A vicarous einforcement
(B) operant condiioning
(C) inmaie behavior

§3) classical conditioning
) observational {eaming
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Multiple‘-tho‘ice Questions

1. Tn operant conditioning, removal of an. sversive stimulus causes:
‘the behavior 1o : .
(A) decrease
(B} increase
{C) stay the same
{D) increase, T1eT1 decrease . ' |
(B) decrease, then increase '

2. Tnthe Little Albert ‘experiment conducted by John B. Watson, tb
- white rat, prior to conditioning, served as what? - ,
(A) Neuiral stimulus (NS)
®) Unconditioned stimutus (UCS)
Q) Tnconditioned response (UCR)
) Conditioned stinius (CS)
(E) Conditioned response (CR)

3. . Jake is training his dog to it on command. Jake gives his dog &
treat every time the-dog sits. Which type of reinforcement schedule

is Jake displaying?

(A) Partial reinforcement

(8) Continuous reinforcement

(] Fixed-interval reinforcement
1)} Variaple-intérveal reinforcement
(E) V.ariable-ratio‘re' forcement

' 4. lijanhasan intense phobia of birds. Her psychologist believes that
in order to alleviate her phobia, Lian must be placed in a room
where she is surrousded by birds. Lian’s therapist believes inthe
effectiveness of what type of phobia-reduction techmique? :

(A) Systematic desensitization “ :
{B) Counterconditioning

(C) Flooding - '

(D) Second—order‘condiﬁomng

(B) Stimulus generalization .

s, Students in Mr. Winn's class receive & gold star each. time they
answer a question correctly. After a studentreceives ten gold
stars, he or she earns a pencil. Mr. Winn is using an operant .
conditioning technicue known a8
(A) counterconditioning
" (B) flooding.
(C) aversive conditioning
(D) token economy
) ohservational learning

6. Julie works ata shoe factory and is paid based on the number of ' L
-shoes she produces in a day. This is an example of which typé of ' o
schedule of reinforcement?
A) Fixed-interval
(B) Fixed-ratio’
{C) Variable-interval
(D) Variable-ratio .
(E) Sequential reinforcement - o ) : S
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7.

10.

Fach time Bailee walks past her brother’s room he squirts her with
water. Because she does not like being squirted with water, she
avoids walking past her brother’s room whenever he is home.

Bailee is displaying what type of learning bebavior?

(A) Escape learning

(B) Avoidance learning
(C) Latent learping

(D Observational learning
(F) Extinction learning

Which of the following is considered a primary reinforcer?

(A) Receiving $20 for every A on areport card

B) Receiving praise for a job well done
(C) Inventing anew product

(D) Drinking a glass of water

() Discovering a buried treasure

When Zach was gight years old, he ate a piece of shrimp that

caused him to become ill. Now Zach is seventeen and becomes

nanseous whenever he srells shrimyp. Zach has experienced whai’

principle of classical conditioning? ‘ o .
(A) Negative reinforcement C '
(B) Systematic desensitization

(C) Higher-order conditioning

(D) Latent learning

() Conditioned faste aversion

In operant conditioning, a ig any stimutus that Increases
behavior; a____ is any stimulus that decreases behavior.

~ (A) punishment; reinforcement

11

(B} punishment; punishment

(9] reinforeement; reinforcement

(D) reinforcement; punishment '

(F) higher-order punishment; conditioned stimulus

Every time Rachel’s parents leave her with Lisa, the babysittér,
Rachel cries. Lisa came 10 Rachel’s third birthday party, which .
caused Rachel to cry. According to the principles of classical )

" conditioning, what is the conditioned stimulus?

_12.

(A} Rachel’s parents’ leaving

(®) Rachel crying -

(C) Rachel seeing 1isa at her house

(D) Lisa leaving Rachel’s house

(B) People singing &t Rachel’s birthday party.

A rat receives a food pelletafter a certain desired behavior is
performed after every 45 seconds. Which of the following correctly
identifies which schedule of reinforcement the rat has been placed
on? :

(A) Fixed-interval

(B) Fixed-ratio. .

() Variable-interval ' '

(D) Variable-ratio

(E) Continuous reinforcement

© 7013 Cengage Leatning. All Rights Restrved May not be copicd, seanned, ot dnpliceted, i whols or in part, except for use 25 peﬁnitted-in a Yicense distributed
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13. According to the principles of observational learning, whatis
. seven-year-old Robert most likely to do after watching a violent .
television program? - . ... ... .. » :
- {A) Behave in a way that is opposite the behaviors on the television
program - T n
" (B) Behave in & way that is different from the behaviors on the
television program
(C) When experiencing a sifuation similar to what he saw on the
television program, hewill imitate what he saw '

(D) See the reaction of others and then decide how to behave
(F) Behave in the same manner hé would have if he had not seen
the television program

14. T you want to train your dog to rolt over, it is best to initially put
her on which schedule of reinforcement?
(A} Continuous reinforcement
(B) Contiguous reinforcement
(C) Partial reinforcement
(D) Fixed-interval reinforcement
(E) Variable-interval reinforcement

15. Sophie is it her car stopped at a red light. The light changes to
green and Sophie proceeds to drive. The green light serves as
what type of stimulus? '

(&) Extinction

(B) Generalization

(C) Discrimination
-(D) Secondary

(E) ,Neuiral

Freé-Response Questions

+ 1. Discuss how the research conducted by each of the following
theorists may explain the acquisition of a spider phobia.
(a) John B. Watson.: . :
(b) B. F. Skinner
(¢) Albert Bandura
(d) Edward Tolman

2, ‘When Luis was three years old, he was a passenger in a canoe that .
flipped over, trapping him underneath, This experience has
resulted in Luis's fear of canoes. Describe how a therapist might
use each.of the following behavioral technigques to help Luis
overcome his phobia. Providing a definition alone is not sufficient;
you must give an example that demonstrates your understanding
of each behavioral technique. '

(2) Flooding

(b) Systermnatic desensitization
() Counterconditioning

(d) Positive reinforcement

(e) Observational learning

1
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Directions: Each of the questions of incomplete statements below is followed by five
suggested answers of cormpletions. Select the one that is best in each case.

_ Mr. Krohn, a carpenter, is frustrated because he misplaced his hammer and needs to pound
in thelast aall In the bookcase he is'building. He overlooks the fact that he could use the
tennis trophy sitting above the workbench te pound in the nail, Which concept

best explains why Mr. Krohn overlooked the trophy?

{(A) representativeness heuristic
(B) retrieval .

(C) functional fixedness

(D) beliefbias

(E) divergent thinking )

. Phonemes and morphemes refer to

(A) elements of telegraphic speech toddlers use.

(B) elements of language. : . S i

(C) building blocks of concepts. : i

(D) basic elements of memeries stored in long-term memory.

(B) two types of influences language has on thought according to the linguistic
relativity hypothesis.

. Which example would be better explained by the levels of processing model than the
information-processing model?

() Someone says yOUT NAme across the room and you switch your attention away
from the conversation you are having.

(B) You forget part of a list you were trying to memorize for a test.

{C) While visiting with your grandmother, you recall one of your favorite childhood toys.

(D) Youareableto remember verbatim a riddle you worked on for a few days before you
figured cut the answer. :

(B} Youpayless attention to the smell of your neighbor’s cologne than io the professor’s
lecture in your college class.

. Contrary to what Wherf's linguistic relativity hypothesis originally predicted, what effect

does recent research indicate Jangnage has on the way we thinlk?

(A) Since we think in language, the language we undexstand limits what we have the
ability to think about. v

(B) Languageis atoolof thought but does not limit our cognition.

{C} Thelabelswe apply affect our thoughts. ,

(D) The words in each language affect our ability to think because we are restricted to
the words each langitage uses.

(B) The ].ing'tﬁstlc relativity hypothesis predicts that how guickly we acquire language
correlates with our cognitive ability.

COGNITION 147

L e R TIETRATITITTWER DR




5. Which of the following is an example of the use of the representativenass h.eu:istic?

(A) Judging that a young person is more likely to be the {nstigater of an argument than
" an older person, hecause you believe younger people are more likely to start fights.
(B) Breakinga math story problem down. into smaller, Tepresentative parc's, in order to
solve it. S
(C) Judging a situation by a rule thatis usually, but not always, true. N
(D) Solving a problem with a rde that guarantees the right, more representative, answer.

(H) Making a judgment ACCoTtiTIE to-past experiences that ave most easily recalled, there-

fore representative of experience.

6. ‘Which of the following is the most complete list of elements in the three-box/information-
processing model?

(A} sensory Memoxy, constritctive MEmory, working memory, and long-term memory
(B) short-term. memory, working memory, and long-term memory '

(C) shallow processing, deep processing, and retrieval

{D) senscry memory, encoding; working memory, and retrieval

(E)...sensory MEmory, working memory, encoding, long-term memaory, and retrieval

7 Which of the following is an effective method for testing whether 2 Memory is actually ttue
orwhether itis a constructed memory?

(A) checkingto see whether it was deeply processed or shallowly processed
(B) testing fosee if the memoiy was encoded from sensory memory {rito working memosy

L © using a PET scan. to see if the memory is stored in the hippocampus
" Y (D} using other evidence, such as writien records, to substaniiate the:memory
(E) thereisnowaylo iell the difference between a true memory and a constructed one

8. One of the ways mernories are physically stored in. the brain is by what process?

(A} deep processing, which increases levels of neurotransmitters in the hippocampus
(B} encoding, which stimuilates electric activity in the hippocampus

(C) long-tennt potentiaton, which strengthens connections between neurons

(D} selective attention, which increases myelination of memory neurcns

(B) rehearsal, which causes the brain to devote MOTE DEUTONS fowhatis being rehearsed

g, According to the nativist theory, language is acquired
. (A} byparents reinforcing correetlanguage use.
(B) usingan inborn ability to learn language at 2 certain developmental stage.
(C) bestin the language and crlture native to the child and paxents.
(D) onlyif formal language jnstruction is provided in the child’s native language.
(E) bestthrough the phonics instructional methed, because children retain how to
pronounce all the phonemes required for the language.

10. According 1o the three-box{informaﬁon—pmcessing model, stimuli from our outside
environment is fixst stored in
{A) working memory.
(B) the hippocampus.
(C) the thalamus.
(D) sensory MEmMOLy.
(B) selective attention.
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1. Which of the following is the best example of the use of the availability heuristic?

(A) judging a'situation by arule that is usually, but not always, frue

(B) making a judgment according to past experiences that are most easily recalled

(C) judging thata problem should be solved using a formuta that guaraniees the
right answer ’ ,

(D) melking a judgment according to whatis usually true in your experience

(B} solvinga Iiroblem by breaking it into more easily available parts

12. Which sentence most accurately describes sensory memory?

(A) Sensory memory stores all sensory Input perfectly accuzately for a'short period
of ime. . .

(B) Sensorymemary encodes only sepsations we are attending to at the fime.

(C) Sensory MEIMNory Teceives memores from the working memory and decides which
memories to encode in long-term memory.

(D} Sensory memory records all incoming sensations and remembers them indefinitely.

(F) Sensorymemory records some sensations accurately, but some are recorded
incorrectly, leading to constructive mMemory-

13. Recall is a more difficult process than recogniton because

{A) memories retrieved by recognition are held in worlng mMEmOory, and recalled
memories are in long-term memory. '

(B) memories retrieved by recognition are more deeply processed.

(C) the process of recall involves cues to the memory that causes interference.

(D) memories retrieved by recognition are more recent than memories retrieved
by recall. ‘

(E} the process of recognition involves matching a person, event, of object with
something already in MEMOLY. '

14. Which of the following would be the best piece of evidence for the nativist theory of
ldanguage acquisition? ' ' )
< {A) achild who acquires language at arn extremely early age through intense instruction
B by her ot his parents .
(B) statistical evidence that children in one culture learn language faster than children
- in another cultire
(C) achildof normal mental ability not being able to learn language due to language
deprivation at an early age '
(D) achild skipping the babbling and telegraphic speech stages of language acquisition
(B} a child deprived bf language at an early age successfully learning language later

15, Afriend mentiéns toyou that she heard humans never forget anything; we remember
 gverything that ever happens i0 us. What concept from memory research most directly
contradicts this belief? '

(A) sensory memory

(B) selective attention
(C) long-term mMemory
(D) constructive memary
(B) recovered memory
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3 Review Questions ' | Oﬁﬁnﬂﬂm

Directions: For each questioﬁ;
the question.

1.

The three stages of the Arkinson-Shiffrin process

of memory atre

choose the letter of the choice that best completes the statement or answers

5. According to the levels of processing theory of

memory,

(A) iconic, echoi¢, encoding

(B) semsory, short term, Jong term

(C) shallow, medium, and deep processing
(D)) semantic, episodic, procedural

(E) cerebellum, temporal lobe, hippocampus

Which of the following exaroples best illustrates
episodic Memory?

(A) telling someone how to tie a shoe

(B) answering correctly that the Bartle of

Hastings was in 1066

(A)-we—remember items that are repeated again

and again
(B) maintenance rebearsal will encode items into
our long-term MEMOFy -
(C) deep processing involves elaborative rehearsal,
ensuring encoding into long-term memory
(D) input, output, and storage are the three levels
(E) we can only hold 7 items in our short-term
memory store before it is fall

. Which of the following brain structures plays a

(C) knowing that ihe word for black in French is roir

(D) remembering that a cdown was at your fifth
birthday party

(E} long-term memory for the times tables
learned in second grade

Doug wrote a grocery list of 10 items, but leaves
i at home. The list inctuded in order: peas, con,
squash, onions, apples, pears, bananas, flour,
moitk, and eggs. If the law of primacy holds,
which: of the following is Doug most likely to
remember when he gets to the store?

(A) peas, pears, eggs.

(B) banana, flour, peas

(C) apples, peass, bananas

{D) flour, milk, eggs

(E) peas, coin, onions

In the preceding example, which' of the items
would be recalled in Dougls short-tesm memory
immediately after writing the list?

(A) pess, comm, squash

(B) peas, corn, onions,

(C) apples, pears, bananas

(D) flour, milk;, eggs

(F) flour, corn, bananas

key role in Gansferring information from short
term memory to long-term memory?

(A) hypothalamus

(B) thalamus

(C) hippocampus

(D) frontal lobe

(E) parietal lobe ' ¢

. Dai was drunk, so his gi:lfricnd convinced him to

get out of his car, and she drove him home in her
car. He could not remember where his car was
parked when he got up the next morning, but after
drinking some liquor, Dl rememmbered where he
Jefi his car. This phenomenon best Hlustrares

{A) the misinformation effect

(B) mood-congruent memory

(C) the framing effect -

(D) state-dependent memory

(E) anterograde amnesia

. Phonemes at¢:

(A) the rules of grammar that dictate letter com-
binations in a language

(B) the sraallest unit of sound in a language

(C) the smallest unit of meaning in a language

(D) semantically the same as morphemes

(E) about 100 different words that are common
to all fangnages
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9. Because it has all of the features commonly asso-

1.

12,

. clated with the concept. bird, a robin is

considered

(A) a prototype
(B} a schematic
(C) an algorithm
(D) 2 phenotype
{(E) a heuristic

. Compared to couvergent thinkers, to solve 2

problem, divergent thinkers are more lLikely to:
A) process information to arrive at the single
" best answer
(B) think creatively and generate multiple answers
(C) problem solve in a systematic step-by-step
fashion
(D) frequently suffer from functiopal fixedness

{E) use algorithms rather than heuristics to arrive

at a solution

Unlike B. E Skinner, Noam Chomsky believes

that children

(A) learn to speak by mimicking the sounds
around them

(B) speak more quickly if their parents correct
their misprosunciations early

(C) are hard-wired for language acquisition.

(D)learn language more quickly if positive
rewards are given to-themn

(E) can leamn to speak correctly only dunng a .

critical age

Which of the following is 2 good example of

functional fixedness? '

(A) failing 1o use a dime as a screwdriver when
you have lost your screwdriver

(B) not being able to solve a physics problem
because you apply the same rule you always do

{C) using a blanket as a pillow

(D) adding water to a cakc mix when it calls for
mitk

(E) thinking of an apple first when you are asked

to narme fruits
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13. Having been told that Syd is an engineer and .

Fran is an elementary school teacher, when
Armold meets the couple for the first time, he
assumes that Syd is the husband and Fran is the
wife, rather than the oppomte, which is the case.
This best illustrates:

(A) confirmation bias

(B) cognitive illusion

(C) the mere exposure effect

(D) the anchoring effect

(E} the representativeness heuristic

14. Which of the following is a holophrase one-year-

15.

old Amanda is likely to say?
(A) “Mmmmm”

(B) “Gaga’

(C) “Eat apple”

(D) “1 eated the cookie”

(E) “Bottle”

Which .of the following exemplifies retroactive

interference?

(A) After suffering a blow to the head, Jean
cannot form new memoies.

(B) Elle failed a Spanish test because she studied
for her Ttalian test after studying Spanish.

(C) Lee cannot remember an important date on
the history exam.

(D) Gene cannot remember his new locker com-
bination but remembers last year's.

(E) Jodi remembers the first few items on her
school supply list, but cant remember the
test of them.
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See Chapter 19 for aﬁswcrs and eﬁplanafions.

i

The main difference between auditory and visaal
sensory memory is that

4.

2

Which of the following would NOT be an example of
a two-year-old’s usage of telegraphic speech?

(A) visual memory dominates auditory memory

(B) visual sensory memory Jasts for a shorter period
of time than auditory sensory memory

(C) visual sensory memory has a higher storage
capacity than auditory sensory memory

(D) a phone pumber read to an individual wilk be lost
before 2 phone number that was glanced at for
15 seconds

(E) if both visual and auditory stiuli are presented
at the same time, the visua] stimulns is more
likely to be transferred to the long-term

2.

W

tigyaory tham ts the-auditory-stimulus

(A) “Where ball?”

(B) “Boy hurt”

() “Milk”

(D} “Mommy give hug.”
{E) “Go play group.”

Students are givert a reasoning task in which they are
asked, in sixty seconds, to come up with as many ways
as possible to us¢ a spoon that do not involve eating or
prepering food. The mmber and diversity of responses
could most accurately reflect the students’

The greater likelihood of recailing infermation from
memory while in the same or similar enyvironment
in which the memory was originally encoded is an
example of

{A) retroactive interference
(B) chunking

' (C) elaborative rehearsal

(D) encoding specificity
(E) procedural memory

The term given to that part of language composed
of tones and, inflections that add or change meaning
without alterations in word usage is

(A} syntax
(B) grammar
(C) phonemics
(D) semantics
(E) prosody

{(A) divergent thinking abilities
(B} convergent thinking abilities
(C) intelligence quotients

(D) working memories

(F) subordinate concepts
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remember freezer items you might picture the freezer and the items

that are normally located there. The link method involves linking a

mental image with the content.that.is to be remembered: For example,
if you need to remember to bring your book home you might Iink a
picture of you dbing homework with your book.
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An essay question mlght ask you {o explaln how mnemoenic
devices improve memory. Be prepared to give examples.

Muitiple-Choice, Questions

1. When agked to give an example of what a bird is, Tom rephed “Do
vou mean a robin?” For Tom, a robin is an exarople of afo):
(A) algorithm
(B) mental set
(C) concept
(D) prototype
(E) script

" 2. Which of the follomng best describes the use of avaJlabﬂlty

© 2013 Cengage meg Al nghts Reserved. May not be copwd seanned, or duplicated, in whole or in part, sxcept for use 25 permitted in a license distributed

heuristics?
{A) Jack believes that all secretaries are women.
(B) .Sam is completing a mathematical problem step by step.
{C) Andrea fails to turn in an assignment, think‘ing itis due
tOmorrow.
(D) Steve believes that more H]JUIleS occur in hockey than in
. baseball.
{E} Angelica thinks that bulldogs are the best example of a dog.

3. Jillian is struggling with a challenging physics problem she can't

seem to solve. Which problem-solving strategy would she benefit
from?

LA] Functional fixedness

(B) A representativeness heuristic

(C) An availability heuristic

(D) Insight

(E) Incubation

L
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4. One-year-old Hayden points to a horse and says “doggie.” Hayden
is displaying ' '
- (A) overregularization “ .
(B) telegraphic speech
(C) overextension
(D) incubation
{E) babbling

According 1o psychologists, what are the three components of

i

language?

(A) Plasticity, morphemes, phonemes

(B) Plasticity, syntax and gemantics, infinite creativity

(C) Syntax and semantics, finite creativity, displacement -
(D} -Symbolic, representativeness, available

(F) Symbolic, generative, and structured

6. Mr. Flanders asks Sean to deliver a message to Mrs. Rogers. Sean
" fas never been to Mrs. Rogers’s room, but is told that it is two
classrooms to the right of Mx. Smith's room. Because Sean had .
Mr. Smith last year for psychology, he inows where Mrs. Rogers’s

Ciassroonis:- Sean has-used what component of thought to help
him? ' ;
(A) Cognitive map
(B) Script :
(C) Functional fixedness

(D) Mental set
(E) Algorithm’

7. Many students often miss multiple-choice questions that state,
“Which of the following does NOT” apply to a given guestion.
Their failure to notice a differently worded question such as this is
an example of which obstacle to problem solving? o

" (A) Functional fixedness :
(B) Mental set
(C) Algorithm
O Confirmation bias
(E} Incubation

8. Clarisse goes to the store to purchase chips for her upcoming
graduation party. Which problem-solving strategy would ensure
that Clarisse finds the aisle containing the chips? . ' ‘
{A) Representativeness heuristic ' -

(B) Availability heuristic

(C) Mental set ,
(D) Incubation - !
(EY Algorithm’ .
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9. Which of the Tollowing demonstrates the principle of confirmation : B 5
hias? i :
{A) After learning that her friend was depressed Julie says, “Of . BRI
course she was depressed. She never wanted to do anything.” T
(B} Joe is passionate about environmental conservation, and S
refuses to listen to or read any data that contradicts his views. - g
(C) Carly hears that the new English teacher loves to read books . IR
and attend plays. She then assumes that the teacher is female. : o ”’
(D) Erica is trying to solve a physics problem, but cannot think of
~which equaticn to use'to do s0, and instead begins her math
" homework.
(E) Samantha wants 1o eat a can of soup but'dees not have a can
. opener, so she uses a knife to cut a hole in the soup can.

10. Jimmy is watching for the first timne a slide show depicting the :
historical figures in psychology. At this point, Junmy is utilizing : EEE
which process of memory? - ' '

(A) Linking

(B) Encoding

{C} Retrieval C - L
* (D) Gathering ‘ : . - : A

(B) Stimulating ' ;

R

11. During class Maria was called upon to give the year her mother
was born. After a brief moment, she was able to remember. - P
Maria’s answer is classified as a(n) : ' : b
(A) procedural memory ' ' e
(B) semantic mermory . . . o Jt 5

- (€} episodic memory '
(D} nondeclarative memory
(E) flashbulb memory

12..Rosita was having a hard time remembering the material she
learned in class and that she knew was going to be on a test. As
she walked into her classroem on the day of the test she
immediately started to remember the forgotten content. This
sudden occurrence could be explamed by . -
(A) recency effect : ' ]
(B} context-dependent or context cues mexmory : e
(C) primary effect : oo
(D) retrieval failure . _ [
(B} semantic association - ' - S b,

13, Steve can only remember his old locker combination; he keeps 1' i

forgetting his new combination. Steveis experiencing ' §
(A) blocking interference : !
(B) retroactive interference
(C) proactive interference
(D) repression interference
(E) suppression interference

Dar ced e
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14. Ray hurt his head in a recent car accident and as a result of the
accident has heen experiencing problems recalling past events.
‘Ray’'s doctors'told his parents that Ray may be sufferxng from
(A) anterograde amnesia '
(B) misinformation effect
(C) incomplete schemas
(D) retrieval failure
(B} retrograde amnesia

- . ] ~
15. What psychologist believed that the forgetting of information wilt
occur rapidly atfirst and will then level off, with the remammg
information being retained for a long period of time?
{A) Herman Ebbinghaus
(B} Donald Hebb.
{C) KarlLashley
(D) Sigmund Freud™
{E) Elizabeth Loftus

1 The process of mernory is said to be influenced by numerous
" factors. Explain how each of the follovvmg contributes to reca]l
{a) Serial pogition effect .
" {b) Representativeness heuristics '
“{c) Framing effect . . , : ) N
(d) Elaborative rehearsal :

2. Jerry is preparing for a geography test on the names of the states

and their capitals. .

- (2) Explain how each of the follomng would impact J erry’ g taking
the test. Be sure to define each term before citing an example -
-that applies to the question.
() Context dependent memory’
fii) Cognitive map "

(b How might the following strategies aid J erry in remembermg
the Iocations of the states, their names aud the name of each
state’s capital?

- (i) Method of Loci
(i) Incubation







